
y

















F



        Fyz

        (


   












      

         d(










x

       z

To calculate Mx due to   F   we only need to consider Fyz, the component in the y-z plane, because the component along the x direction, Fx , does not tend to rotate a body about the x axis.
Mx =   Fyz   d(
Fyz =  F sin (x

Mx =   F sin (x   d(
In General:







Maxis =   F sin (axis   d(
where ( axis is the angle between the axis being considered and the line of action of  F 

   and 
d( is the perpendicular distance between the axis and the loa of F






